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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE guestions in all.

Questions no. 1 and § are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE guestion from each section.

The number of marks carried by a gquestion [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated elearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one,

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
ghall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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WUE A
SECTION A

Q1. TrerTerfias woat # & wedres = o wTHA 150 yrsEl | St

Answer the following questions in about 150 words each :

(a)

(b)

(ch

(d)

ie)

‘srawEaEl, ‘swmEl’ o St & b sem we i s A e
faor % T amifires fag # 2 =+ faavme emevadand srow =@ # 7
Explain the difference between ‘needs’, ‘wants’' and ‘demands’. Which

one of these is the starting point for marketing 7 Do marketers create
needs 7

“FgAt geart w1, HUW Ik g a% Avl e @ em,” a8 awen e
g wemae srfuferam % o St aufE s 2 7
Ty Teheue wfaerd fauwue afigye # e smo a6 39w T8 2 2

The statement “build a better mousetrap, the world will beat a path to
their door”™ communicates the essence of which marketing management
orientation ?

Why is this concept not the right approach in a competitive marketing
scenario ?

=g fvoees o F o aaw & oy wEw w9 E, B 3 ooft ameladen
W AR A8 o Hhd B | #Wa: o Wi I90H th A TEHE S9FH
A B | FREEE wAEE 9iEw # = 24 39 § S At aaEh 3
sit =41 9

Smart marketers approach market with an understanding that they
cannot appeal to all customers/buyers. Therefore they adopt the ‘rifle’
approach instead of the ‘shotgun’ approach. Which of the two approaches
is more effective in the contemporary business environment and why ?

qHE qEE (vE. ) wigw 5 gftafie i | oee g gitem & o
smiE fafim vgfat =1 av Hifig |

Define Human Hesource (HR) Audit. Describe the various practices
followed for HRE Audit.

qreiar’, e oft ‘Sewdl & e R 7 St 1 vl o sl
I Gy I o Hifaw |

What is meant by ‘vision’, ‘mission’ and ‘objectives’ 7 Briefly explain the
nature and characteristics of ohjectives.
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Q2. (a)
(b)
(c)
(d)
Q3. (a)
(b)

SRR & fagidt 6 sen déw #§ S | AE sk swifE R ®
fafim wom Fwn 8 2 swifes wfowal = 3w & & o 9 2w
g2

Briefly explain the theories of compensation. What are the different

types of monetary and non-monetary rewards ? What are the merits and
demerits of using non-monetary rewards 7

s v W e @ feg efidfe +@ =1 % ot d 2 ) s

w1 fagr w=om i sifaus s W Anafa # | e il B d@ne
Rifim = w wlafa = wfinfs =0 % v, @ fag= =1 3@ &y
R TR = T B |

Motivation is a simple process but the task of motivating is daunting,
Herzberg's theory is based on hygiene and motivator factors. Explain
how this theory can be used to motivate emplovees at different levels of

an organisation.

T o aan we famm wEt F Tadee $itae | e wn ST
%1 faferm werl % 3eme wur=non & w2 # 2

Differentiate between line extension and brand extension strategy, Why
do organisations proliferate markets with different types of product
variations ?

It qfmetEl % fefrm oo fBfy o wo 8, 2 m R F s i
(weRtam) =t =aTE Hifw | TeTe O AR 9ot O3 & uew woe s En
g2

Explain the economic rationale behind leasing as a mode of financing

capital assets. What are the differences between an operating lease and
a capital lease ?

‘it o wey’ & dw wemg i syem fifw | v gg T g
CTEA] o Wi e I | a4 o wE W S a9 U9E Bid # 7

15

15

10

10

Explain the relationship between ‘role’ and ‘goal’. Differentiate between

role conflict and role ambiguity. What effects do these have on the
working of the organisation ?

Aged we § e Rl sl & wee w sewe e § 7 e
#if B e w1 o187 F I=W W W GEedAeas Ao wive Aluw
TEvEqUl B WiH & I dehATehl Sive] i e %A B o 8 |

‘What are the different types of skills leaders use in leading ? Discuss the

reasons why conceptual leadership skills become more important and
technical skills go down in importance, at higher levels of organisation.
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(c)  wiqeTEd ez famvm & et 8, ww wew wifem € . wEER @ s (B20),
FER ¥ FEN (BZB), Wa® H I5F (C20) 31 ues d FnEn (C2B) |
FETEITIT I WEEAT § ] =nE) hifay |
In the context of Online Internet Marketing, four types are
distinguished : Businezs to Consumer (B2C), Business to Business
{B2B), Consumer to Consumer (C2C) and Consumer to Business (C2B).
Explain these with the help of examples. 10

(d) TergET % Hfm qEe WO =W (i) siea @ o T T g
g (dt..A.) F ooy Sy gwize, §9
(i)  Yed g @ E, 3l
(i) WFAHETRE |
= $ifaw R oo gea-fafo =7y & e &% go sm = e owen
S e W g R
Contrast the effect of FIFO versus (weighted) average cost on ending
value of inventory and pre-tax income (PBET), when
(i)  Prices are rising, and
(i}  Prices are falling.
Exzplain how income can be manipulated by the choice of inventory
valuation method. 10

Q4. (a) TiE i fF sl v wen i wEEm @ oo @i e wwn s
F & | fawom wirm frew & SR 9 A= ¥ 0
Explain how do marketing communications work with the help of basic

communication process,. What are the elements of marketing
communication mix ? 15

(b) & ity wmdwme 3 famn @ B “enEn w1 us il FEw v gt
i # — wEYET F I T SN S AR Fgil w9
FwET # ot ... | e i W IweEr B9 % o s w aed
¥ T % Tead § §9 A o WA raeah qeain $hita |
A famous economist wrote that “there is one and only one social
responsibility of business — to use resources and engage in activities
designed to increase its profits...”, Critically evaluate this statement in
the context of increasing pressure on business to be socially responsible. 15
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(¢) vEuEhE e w v o FEgTeE % 8 weEet & g Ffanita
fopn o1 WA & | w1 I HEGHEGE Gl &S e 9 yEus e 8
AT & 7 =T S, w1
Managerial performance can be judged/measured by two parameters of
effectiveness and efficiency. Can an organisation or manager with high
efficiency fail ? Explain why. 10

(d) UH AEE o T % g (i) ST wmam 8 7 e uE
ufdge wra (3 ) fremet & e e Hif )

What are the primary uses of a standard cost system ? Distinguish
between favourable and unfavourable cost (and revenue) variances. 10
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=R
SECTION B

Q5. F=fafiae w8 @ oo w1 3w e 150 veEi & S

Answer the following questions in about 150 words each :

(a)

(b}

ic)

Terefram <t Wfeem st iy =rn @ 2 gaeft g 46 T < Yeais fagd
o Hifa |

What is the pecking order theory of financing ? Compare it with the
trade-off theory of capital structure.

w8 Hdl i T G F o T wEy B 2 7 9 W i Woatey
(a8 f1.um. ) @ uiser fem wam fen s 2 9 femeew &), 0
ai-ai aa diftem wi=si =1 wfrarfes Fife |

What is the relationship between bond prices and interest rate ? How

does one caleulate yield to maturity (YTM) on a bond ? Define discount
bonds, zero coupon bends and premium bonds.

TR mmiftE B odiw itz s s e R a9 5
I (FRT FY) T 200 FE FAR qw 49 @ d T 100 FOE W
wra gHE | o 3 1z oft spfew fen 6wl = fed s $fed (ROE)
20% ® | 48 "Hd g0 fF v wdt enviw amEEell sue wdg am w@ft,
Feafafan vt % I df

(i) wHRFAEEIgTETR?
(i)  =7Tet 94 =t SurE == oEnh 2
(iii) 37T 59 =R STHTN F47 BT 7

tiv) 4R =R vetog, fafiee 6 fed o ofef o (e 6 oam)
15% =@ 8, @ vdtom, fofies & aom gew (am dftemn) =
A F 8 ?

The India Times reported yesterday that ABS Ltd. earned (profit after

tax) T 200 crore during the year ending yesterday and paid out a

dividend of ¥ 100 crore during the same period. The report also

mentioned that the firm's return on equity (ROE) is 20%. Answer the

following questions assuming that the firm will maintain the same

dividend payout ratio forever :

(i) ~ What is the firm's earnings growth rate ?

(ii)  What will next year’s earnings be ?

(iii) What will next vear's dividend be 7

{ivi What is the estimate of market value (market capitalization) of
ABS Ltd., if market considers 15% as the required rate of return
on equity (cost of equity) of ABS Litd ?
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(@) @y fofite & wafue Fefafes s = 9w@m w6 5 T v
fommn am =79 i vy fafy vE s fafy & sren Fifaw

Explain direct method and indirect method of preparing statement of
cash flows using the following information pertaining to Ajay Ltd :
Statement of Profit and Loss for the vear ended 31/03/2017

EGT-P-MGMT

EﬂﬂﬂfﬂﬂlTﬁmgqﬂiﬂﬂ ea-gr faaa

fawa T 90,00,000
Wi 7 kg i w £0,00,000
4 =Y 1,50,000
BT = 50,000
T GH TATH 8,00,000
A =Y 3,00,000
e T 5,00,000
Hag geTe e

31/03/2017 | 31/03/2016
LGl 50,000 70,000
T 90,000 60,000
g e 80,000 70,000
T A 15,000 20,000

Sales Revenue 90,000,000
Cost of Goods Sold 80,00,000
Other Expenses 1.50,000
Depreciation Expenses 50,000
Profit Before Tax 8,00,000
Income Tax Expense 3,00,000
Net Profit 5,00,000
Relevant Balance Sheet Accounts

31/03/2017 | 31/03/2016
Inventory 50,000 70,000
Accounts Receivable 90,000 60,000
Accounts Payable 80,000 70,000
Income Tax Pa;rahle 15,000 20,000
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(e)

Q6. (a)

(b)

{c)

(d)

=1 Fav 2 & e & o ofed srefuio s s fuio &
e s sugrht seemt e SO 3 2 Swnen afe ¥ fasea ofe g
fam 29 &1 T 3 sEvimw a9 gfEd s 6 e gy @ # 2
U FrEl % ufed B4 % 9w ?

Why does variable costing provide more useful information than
absorption costing for decision-making ? What are the income
relationships between absorption and variable costing when production
volume differs from sales volume ? What causes these relationships to

oCour ¢

TIPS % HIEN OEHEl % AWUE SScAE ogari o el i =men

FH g THE wiEpfas wiheee s 7 e e aeste sagee
wErEgul # 7 I9Y ISTEI o HRTHAT § TIE Hhifau |

What are the major cultural characteristics which explain differences in
organisational behaviour across cultures according to Hofstede ? Why is
cultural adaptation important ? Illustrate with the help of suitable
examples.

qal e = e w1 f Fae e gy () By aw
‘At wiEfEy =0 (o amam.) fafl < gemn ifew | s 291 Tafmi 6 @
HAH dwe & o 7497 7

Compare ‘Net Present Value’ (NPV) method and ‘Internal Rate of
Return’ (TRR) method of evaluating eapital investments. Which of the
two methods is superior and why ?

“F& g% ST 7 uE we 7 wE v §, v e Swbei aftefiat
" 2 @ 17 59 S # s A v fagersen, fawme siesi @
e Hage favemsl % wed 4 $ifan | arm doge (vm.am,) favees &
Y T4 HHE waree ol aEm e s asa € 2

*When managers act on better logic and evidence, their companies will
trump the competition.” Critically analyse this statement in the context
of analytics, big data and HR analytics. What HR decisions can be made
better with HR analytics 7

we fapremas w7 B @ 7 aifemiEETE we wme we faenw & fifew i
& | Sftawa g 1 3w g s Hif |

What is goal displacement 7 Bureaucratic organisations often suffer
from goal displacement. Explain using live examples.
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Q7.

(&)

(b)

(c)

(d)

ferangl % a1 3 3% Fwoi it s fifan | e faae af gemm A
S, @1 & s ey T & o fafe w9 E v G 2 | R w) gen
% fafay it =t w2 Hifam |

Explain the meaning of disputes and causes thereof. Industrial disputes,

if not resolved create dissatisfaction which finds expression in different
ways. Explain the various ways of settling disputes.

g wfafeEt w5 fwTE S %1 991 I BT & 7 eiETR ey ¥ o
et S % o e A f

(i)  He9s™ =19

(i) & wrea TivE & o wd g vEe |

(iii) EFHE W W G ==

(iv) =T Freg T g o R

dw sfAfen Al & fau goeifae sfafedt =1 s fiftm | 2R €
TS I (1) (iv) FEmEita wfafeE & et = ofm 59 4§ swee v
&, o T 7 'l fE 9 GeEeE WoF s 92T ?

What is the purpose of recording adjusting entries ? Some of the items
for which adjusting entries are made at the end of the accounting period
are :

(i) Depreciation expenses

(ii)  Services provided by the firm for amounts received earlier

(iii) Interest payable on loan outstanding

(iv) Rents due but not paid

State the adjusting entries for the above implicit transactions. If an
organisation fails to pass adjusting entries for items (i) to (iv} above,

what will be the impact on ‘Statement of Profit and Loss' and on
‘Balance Sheet’?

9t wi HEA wEH 3 8 9 S o deas wea # ) F o
Al & o man # 2w 7

Two of the emerging organisation structures are virtual and network
organisations. Are these threats to conventional organizsations ? Why ?

T GWA W afiw Tafy ww w0 % T e sifies Seedl, weeawt
Fafidt 6 FavEem & ? 39 @ s S et W g s $ifa

Does India need more leaders, managers or entrepreneurs for achieving
economic growth ? Explain, highlighting their differences.
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Q8. (a) FE HHAEN! TEEy N GEiERon H Heewnt fim # 7 wd=l gukeem 5
w41 =9 B 8 7

Are the concepts of employee engagement and empowerment different 7
What are the benefits of employee empowerment ? 15

(b) famvm # sigEum w1 w7 g R 7 e ofifee B v ol v agEuE
AT HET TeAl 8, 9 35 e IuE fee wee § F e f g g 7
=0y =7 = it |

What is the importance of research in marketing ? Suppose a company
wants to undertake a research study, what process is it likely to

undergo ? Explain the steps. 15
(c) wigm wie fafide & PrafEfee 6 e g
ferefiem % wam e 1 o S I e

8% amfEd-g s (v EL) 5,00,000 | 5,00,000

7-5% wetE (At s Ot 12,00,000 | 10,00,000
sfaadt = Ot 8,00,000 | 10,00,000
T 25,00,000 | 25,00,000

Ige ufes s 40% =% =es § & | Aifenafte ofef @ 8% 3k
srfera arem wifien diftem 7% 2 | wga afem fofeee & s & 100
2 | g afe fofiRe & fom 46ft 6 wifta siea wrm w1 oftewea Fif |

Atul Mahindra Ltd. has the following capital structure :

Type of Financing Book Value | Market Value
8% Non-Convertible
00,0 5,00,000
Debentures (NCD) 500,000 ”
7-5% Preference Share Capital 12,00,000 10,00,000
Equity Share Capital 8,00,000 10,00,000
Total 25,00,000 25,00,000

Atul Mahindra Ltd. is in the 40% tax bracket. The risk-free rate of
return is 8% and the expected market risk premium is 7%. The equity

beta of Atul Mahindra Ltd. is 1-00. Calculate the weighted average cost
of capital for Atul Mahindra Ltd. 10
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(d) “nfefafy smafe wmea (o) ggfal @29 ool o 9gfa 3
wfees gurd Bt § |7 29 wEAd § 7 nialaty i e vee e e
ey e § HOR w8 7
“Activity Based Costing (ABC) systems are always more accurate than
traditional costing systems.” Do you agree 7 How does ABC improve
overhead assignments ?
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